page 1 of 2

MODEL: JF903 ROUND LAMP TABLE (LARGE)
No Part Qty No Part Qty
A |Top shelf ! D Gnmm Screw  M6X35 4
B Side panels 2
C Adjustable feet 4 E © M8 Washer 4

/

A

assembly.

® Please check contents and read instructions before commencing

® Please use a soft mat to avoid damaging during assembly
® Assemble this article following the enclosed instructions carefully.

10min




MODEL: JF903 ROUND LAMP TABLE (LARGE) page 2 of 2
STEP 1 STEP 3
M8 Washer
Ex2
(mm@ v6x35
Dx2

M8 Washer
Ex2

(mm@ v6x35

Dx2

(© Adjustable feet




	TL08EE茶几-装配图(GCL-JUAL)-布局1
	TL08EE茶几-装配图(GCL-JUAL)-布局2

